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.. AABC @ AEDC (AA §2)
AB:ED=AC:EC°|BE& 3:7=6:x
3x =42

T x=14




51.

oS T4 /A = /BCDY ], x9] ka2

® 5 @55 @58 @ ® 65
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o ACBD (AA 5ol

AB:CB=AC:CD

x:3=4:20]R& x =6 °|t}.




it

52. o J%A /BDE = /BCA Y W, AC2] Zo]& F5H?

D)6cm @ 6.2cm ® 7.2cm
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79. & 1"Ho|A /BAD = /CBE = /ACF 9]
al, AB = 7cem,BC = 80m,@ =9cm ¥
o, DE : EF &9

D7:9 @7:8 ® 8:9
@ 9:8 ®9:7

B

AABE 9|4 /DEF = /ABE + ¢ = /ABC
ABCF 9|4 /EFD = /BCF + ¢ = /BCA
w2tA AABC 2 ADEF(AARS) 0|22
DE:EF = AB:BC =7:8 o]t}




80.

t}2 J3oA AD//BC,AB//DEL W, &4 x,y2 HF xy 2] gt

ot

AABCS} AEDA 94 /DAE = (ECB(%Z}) , /B = /Do|E=2
AABC @ AEDA (AA )
E:B_C:ﬁ:m, 12:18=x:8
16
~ 3
AC:BC=EA:DA, (6+y):18=6:8
15
T2

ﬂaﬁw=§x§=mﬂq

X

y

[e]




81. t©& I1FHofA LABC = /AED ¥ =
MAPE 7|32 el x o] dolE=?

AABC @ AAED (AA H<)

AB :AE = AC :AD,

(x+6):4=17:6

6x 4 36 = 68 ,6x = 32
16

5= g(cm)




82. T}S Io]A AD DB =3:5 < U, EC A

o] Zo|2 5}ofa}, /D
249
BL >C
~40cm-~
> m
> & 3lem

AABE @ ACBD(AAR-S)
AB:CB=BE:BD
BD = 24 x g = 15(cm)
24:40=BE : 15

BE = 9(cm)

- EC =40 - 9 = 31(cm)




83. thg 1eo|4 AD DB =2:5 < 1, EC
o] Zolg Fotw?

@ 25cm @26cm ® 27cm

@ 28cm ® 29cm

B

AABE ¢ ACBD(AAES)
AB:CB =BE:BD

BD = 28 x g = 20(cm)

28 :40 = BE : 20
BE = 14(cm)
-~ EC =40 - 14 = 26(cm)




84. ox I"HA LABC = L/AED ¥ o, x & do]=7?

@ 2cm @?Cm ® 7cm
@gcm ® 10cm

B

AABC 0 AAED (AA B2

AB :AE = AC :AD,
(x+6):4=17:6
6x+ 36 = 68 , 6x = 32
16

7= g(cm)




